MATHEMATICS

DPP

DAILY PRACTICE PROBLEMS

DPP No.

Total Marks : 34

64

Max. Time : 39 min.

Topics :  Indefinite Integration, Sequence & Series
Type of Questions M.M., Min.
Single choice Objective (no negative marking) Q.1, 2 (3 marks, 3 min.) [6, 6]
Subjective Questions (no negative marking) Q.3,4,5,6,7 (4 marks, 5 min.) [20, 25]
Match the Following (no negative marking) Q.8 (8 marks, 8 min.) [8, 8]
(x+1) ]
1. I—x(1+xe")2 dx is equal to
A) /¢ xe” +C B) ¢ xe” + L +C ! +C D) N f th
n n one of these
) 1+ xe* ®) 1+xe*| 1+xe* 1+ xe* ®)
2 | o i It
) tan x + cot x + sec x + cos ecx 'S equatto
1 1
(A) > (sinx + cosx + x) + C (B) > (sinx —cosx —x) + ¢
1 :
(C) 2 (cosx — x + sinx) + ¢ (D) None of these
3. If a and b are the arithmetic means of a, ay, ... ,aandb,,b,,...., b respectively, and

n n
a+b=1(=1,2 .n) showthat ) ab; =nab- > (a-a).
i=1

i=1

) dx
4, Evaluate : (i) I Sin®x

5. Evaluate : I x COS_X +1 dx
2X3 esmx 4 XZ
X
6. Evaluate : | ———— dx
-[x“ +x2 +1

J~ cos X + sin X

\/sin 2x dx



Evaluate : I m dx
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(1+x4)\/\/1+x4 -x?

1. (B)

2 1
4. (i)c—cotx—7 cot®x —— cot’x

(ii) sin~' (sinx —cos x) + ¢

1
— _1 —
6. \/5 tan [

7. Inx—-2/7)In(1+x")+c

, V2xe™ 41 -1
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(P)

/n[(xz +1)+vVx* +1

8. (A)—>s;(B)—>p;(C)—>q;(D) —»r



